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1. (a)

2. (a) After arranging letters, 'More'

will come in the fourth position.

3. (c)
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Similarly,

P A Y M E N T S
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4. (a) I. 11 + 6 × 8 – 8 ÷ 2 = 15

Interchanging × and –,

11 + 6 – 8 × 8 ÷ 2

= 11 + 6 – 8 × 4

= 11 + 6 – 32

= – 15

 Statement is incorrect.

II. 15 – 4 × 3 + 6 ÷ 1 = 63

Interchanging × and –

15 × 4 – 3 + 6 ÷ 1

15 × 4 – 3 + 6

= 60 – 3 + 6 = 63

 Statement is correct

5. (a)   R    T   W
  18   20  23

+2 +3

   P S V
  16   19  22

+3 +3

  A D G
  1    4    7

+3 +3
   

  I L O
  9  12   15

+3 +3

6. (c) As Den is Lion's living area,

the Web is the Living area of

the Spider.

7. (c) 286, 456, 340 456 – 286

= 170 × 2 = 340

347, 592, 490 529 – 347

= 245 × 2 = 490

Similarly,

198, 279, 162 279 – 198

= 81 × 2 = 162

8. (a) The alphabet E is opposite to

the alphabet C

9. (c) There are total 10 cubes.

10. (a) '8' will come opposite to the

face 6

11. (c) The letter S is on the opposite

face of the face showing H.

12. (b)Stationary

13. (d)

Jungle Green Blue

So, Both conclusions I and

II follow

14. (a) 413, 662, 911  413 + 911

= 
1324

2
= 662

387, 636, 885 387 + 885

= 
1272

2
 = 636

Similarly,

287, 536, 785  287 + 785

= 
1072

2
 = 536

15. (b) 23, 27, 43, 79, 143, 243

+4 +16 +36   +64    +100   

(2)
2

(4)
2

(6)
2

(8)
2

(10)
2

16. (c)

17. (c)

18. (c)

+3

+3

+3

+3

–7

–7

–7

–7

+8

+8

+8

+8

O   L   R

R   E   Z

U   X   H

X   Q   P

A   J   X

19. (d)17, 51, 153  17 × 3 = 51 ×

3 = 153

32, 96, 288  32 × 3 = 96 ×

3 = 288

Similarly,
42, 126, 378 42 × 3 = 126
× 3 = 378

20. (d)8 A 7 = 56,
8 × 7 = 56
And,
9 A 11 = 99
 9 × 11 = 99
Similarly,
16 A 15
16 × 15
= 240

21. (b) D  E  C  E  N T

V  P  G  E  G  F
+2 +2 +2 +2 +2 +2

Similarly,

E  N  E  R  G Y

A   I   T G  P  G
+2 +2 +2 +2 +2 +2

22. (b)Where boxing is played
called Ring. Similarly, the
Rink is a place where skating
is played.

23. (b)Pedology   Fishes
Other than the above pair,
all are studies in respective
parts

24. (a) 2, 4, 7, 11, 16, 22

+2 +3 +4 +5 +6

25. (d)8 : 128  8 × 16 = 128
16 : 256 16 × 16 = 256
Similarly,

? : 176  
176

16
 = 11

B-GENERAL AWARENESS
26. (d)The Rigveda is the oldest and

most important of the four
Vedas. It primarily depicts
the life, beliefs, and rituals
of the early Vedic people
(Rigvedic period) and
contains 1028 hymns
(suktas) organised into 10

mandalas ./½Xosn pkjksa osnksa esa
lcls iqjkuk vkSj lcls egRoiw.kZ gSA
;g eq[; :i ls çkjafHkd oSfnd yksxksa
ds thou] fo'oklksa vkSj vuq"Bkuksa dks
n'kkZrk gS vkSj blesa 10 eaMy vkSj
foHkkftr 1028 lwDr gSaA
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27. (c) Muhammad bin Tughlaq, a
ruler of the Delhi Sultanate,
earned the title “Mad King”
due to bizarre and
unrealistic policies such as
shifting the capital from
Delhi to Daulatabad and
introducing token currency,
which caused confusion and

economic failure./fnYyh lYrur
ds 'kkld eqgEen fcu rqxyd dks
muds vO;kogkfjd fu.kZ;ksa tSls fnYyh
ls nkSyrkckn jkt/kuh LFkkukarj.k vkSj
lakdsfrd eqæk dh 'kq#vkr ds dkj.k
^ikxy jktk* dgk x;k] ftlls vO;oLFkk
vkSj vkfFkZd ladV mRiUu gqvkA

28. (d)The British annexed Punjab
in 1849 after the Second
Anglo-Sikh War. At that
time, the nominal ruler was
Maharaja Dalip Singh, a
minor, while the region was
effectively under British
control through a resident

and council regency./fczfV'kksa us
1849 esa f}rh; vkaXy&fl• ;q¼ ds
ckn iatkc dks vius v/hu dj fy;kA
ml le; egkjktk nyhi flag ukeek=k
ds 'kkld Fks] tks vYio;Ld Fks] vkSj
'kklu ij okLrfod fu;a=k.k fczfV'k
jsftMsaV ,oa 'kklu ifj"kn  dk FkkA

29. (a) The Times of India was first
published as The Bombay
Times and Journal of
Commerce on 3 November
1838. It later became The

Times of India in 1861./VkbEl
vkWiQ bafM;k dh 'kq#vkr 3 uoEcj
1838 dks n ckWEcs VkbEl ,aM tuZy
vkWiQ dkWelZ ds :i esa gqbZ FkhA o"kZ
1861 esa bldk uke cnydj n VkbEl
vkWiQ bafM;k dj fn;k x;kA

30. (c) Ocean currents play a
crucial role in sustaining
marine ecosystems by
circulating nutrients and
dissolved oxygen throughout
the oceans. These currents
bring nutrient-rich waters
from the deep sea to the

surface (upwelling)./egklkxjh;
/kjk,¡ leqæh ikfjfLFkfrdh ra=k dks cuk,

j•us esa egRoiw.kZ Hkwfedk fuHkkrh gSa
D;ksafd ;s xgjkbZ ls lrg dh vksj
iks"kd rRoksa vkSj ?kqfyr vkWDlhtu dk
çokg djrh gSaA ;s /kjk,a xgjs leqæ ls
iks"kd rRoksa ls Hkjiwj ikuh dks lrg ij
ykrh gSa (Åij mBrh gSa)A

31. (d)The Son River is a major
tributary of the Ganga River,
not the Yamuna. Chambal,
Betwa, and Ken are
important tributaries of the

Yamuna./lksu unh] xaxk unh dh
çeq• lgk;d unh gS] u fd ;equk
dhA pEcy] csrok vkSj dsu ;equk dh
egRoiw.kZ lgk;d ufn;k¡ gSaA

32. (c) According to the Indian
Council of Agricultural
Research (ICAR), India has
eight major types of soils:
Alluvial, Black, Red, Laterite,
Desert, Saline and Alkaline,
Peaty and Marshy, and

Forest soils./Hkkjrh; Ñf"k vuqlaèkku
ifj"kn (ICAR) ds vuqlkj] Hkkjr esa
vkB çeq• feêðh ds çdkj gSa% tyks<+]
dkyh] yky] ySVsjkbV] jsfxLrkuh] •kjh
vkSj {kkjh;] ihV vkSj nynyh] vkSj ou
feêðhA

33. (a) The provision for a joint
sitting of both Houses of
Parliament in case of a
legislative deadlock was
borrowed from Section 57 of
the Australian Constitution,
where a similar mechanism
exists to resolve
disagreement between the
two Houses It is given in
indian constitution (Article

108)./fo/k;h xfrjks/ dh fLFkfr esa
laln ds nksuksa lnuksa dh la;qDr cSBd
dh O;oLFkk vkWLVªsfy;k ds lafo/ku
dh /kjk 57 ls yh xbZ gS] tgk¡ blh
çdkj dk ra=k nksuksa lnuksa ds chp
erHksn lqy>kus ds fy, gSA ;g Hkkjfr;
lfoa/ku ds vuqNsn 108 es fn;k gSA

34. (c) The word “Sovereign” in the

Preamble signifies that India

is independent and not

subject to the control of any

other nation. It reflects

India’s supreme authority in

both internal and external

matters./çLrkouk esa ç;qDr "laçHkq"
'kCn ;g n'kkZrk gS fd Hkkjr fdlh
vU; ns'k ds v/hu ugha gS vkSj og
vkarfjd o cká ekeyksa esa iw.kZ :i ls
Lora=k rFkk lokZsPp vf/dkj j•rk gSA

35. (c) India’s foreign policy is based

on the principle of Non-

Alignment, meaning it does

not align with any major

power bloc. It also promotes

strategic autonomy, allowing

India to make independent

decisions based on national

interest.

India does not chose a side

between USA or Russia but

maintains friendship both of

them.

Hkkjr dh fons'k uhfr dk vk/kj
xqVfujis{krk gS] vFkkZr~ og fdlh Hkh
cM+s 'kfDr xqV ls ugha tqM+rkA lkFk gh]
;g j.kuhfrd Lok;Ùkrk dks c<+kok nsrh
gS] ftlls Hkkjr vius jk"Vªh; fgrksa ds
vk/kj ij Lora=k fu.kZ; ys ldrk gSA
Hkkjr vesfjdk ;k :l esa ls fdlh ,d
dk i{k ugha ysrk] cfYd nksuksa ds lkFk
fe=krk cuk, j•rk gS

36. (b)GDP (Gross Domestic

Product) measures the value

of all goods and services

produced within a country.

GNP (Gross National

Product) = GDP + Net income

from abroad.

It includes income earned by

residents from foreign

investments, minus income

earned by foreigners within

the domestic economy.

GDP (ldy ?kjsyw mRikn) fdlh ns'k
ds vanj mRikfnr lHkh oLrqvksa vkSj
lsokvksa dk ewY; ekirk gSA
GNP (ldy jk"Vªh; mRikn) = GDP

$ fons'k ls çkIr fuoy vk;A
;g ns'kokfl;ksa }kjk fons'k esa vftZr
vk; dks tksM+rk gS vkSj ns'k ds Hkhrj
fonsf'k;ksa }kjk vftZr vk; dks ?kVkrk
gSA
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37. (b)Notified in 2025 by the
Ministry of Road Transport
and Highways, this scheme
ensures free and cashless
treatment for victims of road
accidents across the

country./;g ;kstuk 2025 esa lM+d
ifjogu vkSj jktekxZ ea=kky; }kjk
vfèklwfpr dh xbZ Fkh vkSj bldk mís';
ns'kHkj esa lM+d nq?kZVuk ihfM+rksa dks
eqÝr vkSj fu'kqYd bykt miyC/ djkuk
gSA

38. (d)Acoustics is the branch of
physics that studies the
production, transmission,
and effects of sound waves./

èofudh HkkSfrdh dh 'kk•k gS tks èofu
rjaxksa ds mRiknu] lapj.k vkSj çHkkoksa
dk vè;;u djrh gSA

39. (a)Accommodation is the eye’s
ability to change the shape
of its lens to focus on objects

at varying distances./lek;kstu
vka• dh fofHkUu nwjh dh oLrqvksa ij
iQksdl djus ds fy, vius ysal dk
vkdkj cnyus dh {kerk gSA

40. (c) Bee stings inject formic acid
into the skin, which causes
a burning sensation,
swelling, and irritation due

to its acidic nature./e/qeD•h
ds Mad esa iQkWfeZd vEy gksrk gS] tks
Ropk esa tyu] lwtu vkSj nnZ mRiUu
djrk gSA

41. (d)The plant kingdom evolved
from simple, aquatic Algae to
land-dwelling Bryophytes,
then to vascular
Pteridophytes, and finally to
s e e d - p r o d u c i n g

Gymnosperms./ikS/ksa dk fodkl
lcls igys ty esa jgus okys 'kSoky ls
'kq: gqvk] fiQj Hkwfe ij jgus okys
czk;ksiQkbV~l] blds ckn okfgdh; Ård
okys VsfjMksiQkbV~l] vkSj var esa cht
mRiknd O;kliq"ih (ftEuksLiElZ)
fodflr gq,A

42. (c) Fossil records are the
preserved remains of
organisms from the past,
providing concrete and
chronological evidence of

how life forms have changed

over time./thok'e vfHkys• vrhr
ds thoksa ds lajf{kr vo'ks"k gksrs gSa] tks
le; ds lkFk thou :iksa esa vk,
ifjorZuksa dk Bksl vkSj dkykuqØfed
çek.k çnku djrs gSaA

43. (b)Pressing Ctrl + N opens a
new blank document in MS

Word./Ctrl + N nckus ls MS

Word esa ,d u;k fjDr nLrkost •qyrk
gSA

44. (b)Kargil Vijay Diwas is
observed every year on 26
July to commemorate India’s
victory in the Kargil War of
1999. It marks the day when
Operation Vijay successfully
ended and Pakistani forces
were pushed back from
strategic high-altitude

posts./dkjfxy fot; fnol gj lky
26 tqykbZ dks euk;k tkrk gS] tks 1999
ds dkjfxy ;q¼ esa Hkkjr dh thr dk
çrhd gSA ;g fnu vkWijs'ku fot; dh
liQyrk vkSj ikfdLrkuh cyksa dh okilh
dh iqf"V dk çrhd gS A

45. (a) The Pushkar Fair is held
annually in Rajasthan
during Kartik Purnima. It is
one of the world’s largest
camel and livestock fairs,
also celebrated for its folk
music, dance, religious
rituals, and vibrant cultural

exhibitions./iq"dj esyk gj o"kZ
jktLFkku esa dkfrZd iwf.kZek ds volj
ij vk;ksftr fd;k tkrk gSA ;g fo'o
dk lcls cM+k Å¡V vkSj i'kq esyk ekuk
tkrk gS vkSj yksd laxhr] u`R;] /kfeZd
vuq"Bkuksa rFkk lkaLÑfrd çn'kZuksa ds
fy, Hkh çfl¼ gSA

46. (c) Yudh Abhyas is a bilateral
military exercise conducted
annually between the Indian
Army and the United States
Army. It focuses on counter-
terrorism, joint operations,
and interoperability in high-
altitude and semi-urban

conditions./;q¼ vH;kl Hkkjr vkSj
la;qDr jkT; vesfjdk dh lsukvksa ds
chp gj o"kZ gksus okyk ,d f}i{kh;
l SU; vH;kl gSA bldk mí s';

vkradokn&jks/h vfHk;kuks a] la;qDr
lapkyu vkSj mPp ÅapkbZ o v/Z&'kgjh
bykdksa esa lapkyu {kerk c<+kuk gSA

47. (b)The Henley Passport Index,
published by Henley &
Partners, is the original and
most widely cited global
ranking of passports, based
on the number of
destinations its holders can
access without a prior visa.
It relies on exclusive data
from the International Air
Transport Association

(IATA)./fo'o Hkj ds ikliksVZ dh
jSafdax Henley Passport Index

}kjk dh tkrh gS] ftls Henley &

Partners çdkf'kr djrk gSA ;g
lwpdk ad International Air
Transport Association (IATA)

ds MsVk ij vk/kfjr gS vkSj lcls
vfèkd ekU;rk çkIr jSafdax gSA

48. (c) The e ULPGM-V3 was
developed by the DRDO,
India’s premier defence R&D
agency, to enhance drone-
based precision strike
capabilities against
armoured targets. It reflects
India’s focus on indigenous
smart weapons for modern

warfare./e ULPGM-V3 dk
fodkl Hkkjr dh vxz.kh j{kk vuqla/ku
laLFkk DRDO us fd;k gSA bldk
mís'; c[rjcan y{;ksa ij Mªksu ls lVhd
geyk djus dh {kerk dks fodflr
djuk gSA ;g Lons'kh LekVZ gfFk;kjksa ds
fodkl dh fn'kk esa Hkkjr dh igy dk
mnkgj.k gSA

49. (d)The 17th BRICS Summit took
place on 6 –7 July 2025 in
Rio de Janeiro, Brazil, under
the chairmanship of Brazil.
The summit included
discussions on global
governance reform, climate
action, AI, and cooperation
within the Global South./

17oha BRICS lEesyu 6 – 7 tqykbZ
2025 dks fj;ks ns tusfj;ks] czkthy esa
vk;ksftr dh xbZ Fkh] ftlesa oSf'od
'kklu lq/kj] tyok;q] Ñf=ke cqf¼eÙkk
vkSj Xykscy lkmFk ns'kksa ds lg;ksx
tSls fo"k;ksa ij ppkZ gqbZ FkhA
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50. (c) The Artemis Programme is
NASA’s flagship lunar
exploration mission that
aims to land the first woman
and next man on the Moon./

vkVZsfel dk;ZØe NASA dk çeq•
paæ vUos"k.k fe'ku gS] ftldk mís';
paæek ij igyh efgyk vkSj vxyk
iq#"k Hkstuk gSA

C - QUANTITATIVE APTITUDE

51. (c) LCM of (5, 6, 8) = 120
Least number above 400
which is multiple of 120 is 480.

480

120
 = 4

Highest number below 1800
which is multiple of 120 is
1680

1680

120
=14

No. between 400 & 1800
which is multiple  of 120 =
14 – 4 + 1 = 11

52. (b) 5 Rs   2 Rs   1 Rs   50 Paise
  1    :   3    :  5    :   2
Let all the currency is in
Paise then
5 Rupee coins Rs = 5 ×100
= 500 Paise
2 Rupee coins Rs = 2 ×300
= 600 Paise
50 Paise = 50 × 2 = 100 Paise
then total amount = 10200
(500 +600+500+100)R

= 10200×100 Paise
1700 = 10200 × 100
1R = 600
Then 2 Rupee coin = 3 × 600
= 1800

53. (d) We know

MRP

CP
=

100 profit

100 – Discount



1280

CP
= 

112

70
 = CP = 800

54. (d) 2x = sin -----(1)

2

x
 = cos -----(2)

On Squaring and add the
both equation

4x2 + 2

4

x
= sin2 + cos2

4
2

2

1
x

x

 
  

= 1

55. (c) Let the number area 13a &
13b
1st no. × 2nd no. = HCF × LCM
13a   ×  13b = 13 × 130
ab = 10
13a – 13b = 39
a – b = 3

 (a – b)2 = (a + b)2 – 4ab
 (3)2 = (a + b)2 – 4 × 10
 9 = (a + b)2 – 40

 a + b = 49

 a + b = 7
Sum of the no.
= 13a + 13b
= 13(a+b)= 13 × 7 = 91

56. (a)

A

D E

B C

We know the rule of similarity
in 

AD

AB


DE

BC

5

(AD DB)


15

BC

5

(5 7)


15

BC

BC = 
15 12

5



BC = 36 cm
57. (d) When B begins the work

then no. of days B & A
worked

B 6

A 5
1

3

A can do the work in 24 days

1 day work of A = 
1

24

In 5
1

3
=

16

3
day A has done =

16

3
×

1

24
= 

2

9

The Remain work = 1 –
2

9
= 

7

9

7

9
work has done by B in 6

days

58. (a) x + 
1

3
x

4


= 
–11

4

= x + 
4

4x 3
= 

–11

4

24x 3x 4

4x 3

 


=

–11

4

16x2 + 12x + 16 = –44x – 33

16x2 + 56x + 49 = 0

16x + 56 + 
49

x
= 0

2(4 x ) +

2
7

x

 
  

+2×4 x ×

7

x
 =  0

2
7

4 x
x

 
  

= 0

7
4 x 0

x
 

4x + 7 = 0

x = – 
7

4

4
7

x
4

 
   + 2

1

11
x

4

 
  

=

4
–7 7

4 4

 
   + 2

1

–7 11

4 4

 
  

= 0 + 2

1

4

4

 
  

= 
1

1
= 1



5SSC CGL 2025 | SET - 29KD PUBLICATION Contact us:- 9555108888, 9555208888

K
D
 P

U
B
LI

C
A
T
IO

N

59. (b)
A

B C

x

45°

8.4

In ABC

tan 45 = 
x

8.4

1 = 
x

8.4

x = 8.4m
The length of ladder (AC)
AC2 = AB2 + BC2

AC = 2 2(8.4) (8.4)

= 8.4 2 m

60. (b) ATQ,
40% ×25+(30% of 60)×12 +
42% × x = 100 × 40
1000 + 18 × 12 + 42x =4000
42x = 2784

x = 
464

7
= 

464

7
= 66.285%

profit

61. (a) 12 28 21 45
diff
9 diff

17

x = 

= 
204 – 252

–8
= 

48

8
= 6

Mean prop = (x 3)(4x 1) 

= 9 25  = 15

62. (a) 10% = 
1

10

10 –– 11 –– × (11)2

(10)2 –– (11)2 –– × (11)
(10)3 –– (11)3

B for the equal installment
1210 –– 1331
1100 –– 1331
1000 –– 1331
3310 –– 1331
we will pay only = 79860–
60,000 = 19860
3310 = 19860
1 = 6
1331 = 1331 × 6 =  7986

63. (a)
cos 3 2cos5 cos 7

cos 2cos3 cos5

    

    
+

sin2 . tan3

=
(cos3 cos7 ) 2cos5

(cos cos5 ) 2cos3

    

     +

sin2 . tan3

=

3 7 7 –3
2cos cos 2cos5

2 2

5 5 –
2cos cos 2cos3

2 2

      
       

     
       

+

sin2 . tan3

=
2cos5 .cos2 2cos5

2cos 3 .cos2 2cos3

   

   
+

sin2 . tan3

=
2cos5 (cos2 1)

2cos3 (cos2 1)

  

   +sin2 .

tan3

=
cos5

cos3




+ sin2 . tan3

=
cos(3 2 )

cos3

  


+sin2 . tan3

=
cos3 cos2 – sin3 .sin2

cos3

   


+

+ sin2 . tan3
= cos2 – tan3.sin2 + sin2

.tan3
= cos2

64. (a) a3+b3+c3 – 3abc = (a + b + c )
[a2+b2+c2 –ab –bc–ca]
125 – 3abc = 5 [27– (ab+bc+ca]

---(i)
a + b + c = 5
On squaring
a2+b2+c2 + 2(ab+bc+ca) = 25
27 + 2 (ab+bc+ca) = 25
2(ab+bc+ca)= 25 – 27 = –2

ab+bc+ca = 
–2

2
= –1

Put in equation (i)
125 – 3abc = 5(27+1)
=  5×28=140
125 – 3abc = 140
3abc = 125 – 140 = –15

abc = –
15

3
= –5

4abc = –5×4= –20

65. (d) 7 8 8 8 of 8 8 8 4 of 4

4 4 of 4 4 4 4 – 4 4 of 2

     

    

= 
7 8 8 64 8 8 16

4 16 4 1 – 4 8

     

   

=  
7 64 64 1 16

1 1
4 –

4 2

   



=  
7 1 16

1 16 – 2

4

 

  =  
24

15

4

= 
24 4

15


=

96

15
= 6.4

66. (b) Volume of the cylinder =
r2h
ATQ,

Radius    5 : 12 
Radius    5 : 12
Height     5 : 3
 
Volume    125 : 432

Percentage increase

= 
307 1228

100
125 5

 

= 245.6%
67. (c) FB = BD = FD

So FBD will be a
equilateral triangle

Area of FBD = 
3

4
(side)2

= 
3

4
× (BF)2 =

3

4
  × 12 × 12

× 3  × 3

= 108 3 cm2

BF AB 3

BF 12 3

 
 

  

68. (a) If train crosses the pole

Speed = 
x

20

20 × u = x
x = 20 u
When train crosses the
bridge

Speed = 
Length(x) bridge

Time



u = 
20u 80

60



60u = 20u + 80
40u = 80

u = 
80

40
 = 2 m/sec
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69. (d) (2M+7W)×28 =(6M +16W)×11
56M + 196W = 66M + 176W
10M = 20 W

M

W
  = 

2

1
Total work = (2M + 7W) ×28
= [2×2+7×1]×28
= 11 × 28 = 308
7 men will complete the

same work = 
308

7M
= 

308

7 2

= 22 days
70. (b) 2  r = 132

2×
22

7
× r = 132

r = 21
b = 20 cm
l = 21 cm
diagonal of rectangle

=  2 2bl

= 2 221 20 = 441 400

= 841 = 29 cm

71. (b)   Range = Highest – Lowest
= 71 – 12 = 59

72. (b)

A

B CD

P Q

R S

a 

b

a 
a 

b

c

We know
AB + BC + CA = 14+22+16
a+b+b+c+c+d+a = 52
a+b+c+d = 26-----(i)
We know AB = 14
 a+b = 14
From equation---(i)
a + b + c + d = 26
c + d = 12
CD = 12
If  CD = 12 then BD = 22 –12
= 10

A

B CD

14 16

10 12

Let AD = x then we know
(AB)2 × DC + (AC)2 × BD = BC
[AD2 + BD × DC]
142 × 12 + 162 × 10 = 22 ×

 [x2 +10×12]
196 ×12+256×10=22×[x2+120]

x2 +120 = 
4912

22

x2 = 
4912

22
– 120 = 

1136

11

x = 
1136

11
= 4

71

11

73. (d) ATQ,

A     : B
148 : 100
and,
C      :  (A + B)
99.2  :  248
Now,
A is more than C  =

48.8
100

148
  = 32.97

74. (a) Probability of none of the
balls drawn is blue

= 
2 3 2 3

1 1 2 2

7
2

C C C C

C

  

=
2 3 1 3

7 6

2

  


=

10

21

75. (a) Total no. of girls in school (P+R)
= (17+31)% = 48%
= if 100% = 3000

48% = 
3000

100
×48 = 1440

D-ENGLISH COMPREHENSION
76 (d) Divine (bZ'ojh;) means

relating to God or the
heavens, similar to

Celestial (vkdk'kh; @ fnO;)
which means heavenly or
pertaining to the sky or the
divine realm.

Modest (fouez) – humble or
not boastful.

Artful (prqj) – clever or
skillful, especially in a
crafty way.

Perpetual (lnSo pyus okyk)
– continuing forever or for
a very long time without
stopping.

77. (a) Compliment (ç'k al k @
ljkguk) means a polite or
flattering remark that
expresses approval or
admiration.

Critique (leh{kk djuk @
v ky kspuk d j uk)  – to evaluate
or analyze something
critically.

Complement (iwjd gksuk) –
something that completes
or goes well with
something else.

Censure (fuank djuk) – to
express strong disapproval
or criticism.

78. (a) The correct spelling is

Staggered (yM+•M+k;k @
pkSadk gqvk) which means
moved unsteadily or was
deeply shocked.
Other correct spellings:

Strived (ç;kl fd;k) – tried
hard to achieve something.

Stressed (rukox z Lr)  –
under mental or emotional
pressure.

Stooped (>qdk gqvk) – bent
forward, often due to age
or tiredness.

79. (d) “Sticky fingers” is used to
describe someone who
steals things, especially in
a sneaky or habitual way.

80. (a) Fetish (lud) means an
excessive and irrational
fixation or obsession with
something, while

Indifference (mnklhurk)
means a lack of interest,
concern, or emotional
involvement.

Obsession (tquwu) means
an intense or persistent
preoccupation with
something.

81. (c) Sallow (ihyk)  means
having an unhealthy
yellowish skin tone, while

Flushed (yky) means
having a healthy reddish
color on the face.

Pallid (iQ hdk)  means

lacking color or
brightness.

Livid (xqLls okyk) means

extremely angry.

Paled (ihyk iM+k) means

became pale in color.
82. (d) “Much the same” means

very similar.
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83. (c) “house” is a specific place
both parties are familiar
with (likely the one they live
in), so “the house” is
correct.

84. (b) Eternal (vuardkyhu) means

lasting forever, without any
beginning or end.

Memorable (Lej. k h;)–

worth remembering due to
importance or uniqueness.

Transitory ({k f. kd)  –

lasting for a short time;
temporary.

Pertinent (çkl a fxd)  –

relevant or directly related
to the matter at hand.

85. (b) The correct spelling is

Occasion (volj) which

means a special or
important event or moment
in time.

86. (d) Intractable (ftíh @ dfBu)
means difficult to manage
or control, similar to

Defiant (vkKk u ekuus okyk)
which means showing
resistance or disobedience.

Proper (mfpr) – correct or

appropriate.

Compliant (vkKkdkjh) –

willing to follow rules or
orders.

Versatile (cgqeq•h çfrHkk
okyk) – able to adapt or be

useful in many different
ways.

87. (a) Out of spirits (mnkl)
means feeling low, gloomy,
or lacking enthusiasm.

Cheerful (çlUu) means

feeling or showing
happiness .

Obsolete (vçpfyr) means

no longer in use or
outdated.

Hurt (pk s fVy)   means

physically or emotionally
injured.

88. (a) “Ten years have passed
since...” indicates a
specific point in the past,
so the action after “since”

should be expressed in the
simple past tense “died”.

89. (a) Turn in  (lkSaiuk @ tek djuk)
is the correct phrasal verb

for submitting work.

“Asked to turn in their

assignments” means

students were requested to

submit their assignments.

“Turn up” means to appear

or arrive.

90. (b) Unfortunately (nqHkkZX;o'k)
is an adverb used to

express regret about a

situation.

Unfortunate (nqHkkZX;iw.kZ) is

an adjective.

91. (a) "predilection" means a

strong preference or special

liking for something.

92. (d) Active Voice Structure:

The professor (subject) +

assigns (simple present of

“assign”) + the homework

(object) + every week (time).

Passive Voice Structure:

The homework (object) + is

assigned (passive form of

“assign” in simple present)

+ by the professor (agent) +

every week (time).

93. (c) The sentence talks about

Raju’s good performance in

the exam, which is a past

event. So, we use “must

have studied well” to

express relevance about his

past effort.

94. (a) Correct order is QRPS.

Q introduces the subject: The

route to Badrinath.

R describes its difficulty: Is

one of the most arduous

one.

P explains the cause: Due to

the lofty hilly terrain,

curves and cliffs.

S adds more detail about the

location: Amidst the most

scenically beautiful place

on the earth.

95. (c) Active Voice Structure:

They (subject) + built

(simple past of “build”) + a

new house (object) + last

year (time).

Passive Voice Structure:

A new house (object) + was

built (passive form of

“build” in simple past) + by

them (agent) + last year

(time).

96. (b)

97. (c)

98. (c)
99. (d)
100.(a)

ANSWER KEY

1. (a)

2. (a)

3. (c)

4. (a)

5. (a)

6. (c)

7. (c)

8. (a)

9. (c)

10. (a)

11. (c)

12. (b)

13. (d)

14. (a)

15. (b)

16. (c)

17. (c)

18. (c)

19. (d)

20. (d)

21. (b)

22. (b)

23. (b)

24. (a)

25. (d)

26. (d)

27. (c)

28. (d)

29. (a)

30. (c)

31. (d)

32. (c)

33. (a)

34. (c)

35. (c)

36. (b)

37. (b)

38. (d)

39. (a)

40. (c)

41. (d)

42. (c)

43. (b)

44. (b)

45. (a)

46. (c)

47. (b)

48. (c)

49. (d)

50. (c)

51. (c)

52. (b)

53. (d)

54. (d)

55. (c)

56. (a)

57. (d)

58. (a)

59. (b)

60. (b)

61. (a)

62. (a)

63. (a)

64.  (a

65. (d)

66. (b)

67. (c)

68. (a)

69. (d)

70. (b)

71. (b)

72. (b)

73. (d)

74. (a)

75. (a)

76 (d)

77. (a)

78. (a)

79. (d)

80. (a)

81. (c)

82. (d)

83. (c)

84. (b)

85. (b)

86. (d)

87. (a)

88. (a)

89. (a)

90. (b)

91. (a)

92. (d)

93. (c)

94. (a)

95. (c)

96. (b)

97. (c)

98. (c)

99. (d)

100.  (a)


